y"-3y'+2y =3sin3x, r’-3r+2=0, (r-1)(r-2)=0,r=1,2, e€*,e* >y, =c, e +c,e”

1 1
D’ —3D +2)y = 3sin3x, = sin3x = —(=7smn 3x + 9cos 3x
( )y % D*-3D+2 130( )
1 " 1 x 1 - /| - 1 -7+9 .. -7+9 .. -7+91
- o : i — ' S - = - %em = Lo = 1(cf:)s?)}{+isin3:~()
D" -3D+2 (31)" =331 +2 —9-3(31)+2 =7 -9 -7-91 -7+9 49 + 81 130

1 1 1
=—/(— 7+91)(0053x+1sm3x)—g( —7cos 3x — 7isin3x + 9icos3x + 9i” 51113:{)—?{( —7¢c0s3x —9sin 3x) + (=7sin3x + 9cos 3x)1}

130

: 2 2 . . .
y'"ty=smx, r"+1=0, r" =1, r =1, sinxX,cosX =y, =¢,sinx +¢, cosx

1 1 1 1
D’ +1)y =sinx, y, = SINX = ——XCOSX, = COSX = —XSInX
( 2 T DP 2 T DP
| 1 e 4 N .4 o L ;
5 —€ = . —e" (X) = (— —) xe™ = —-i—xe™ = —1—X(cosX +1sinX) = —XsinX +i(——X cosx)
D +1 D +1)(D-1) 21(1') 2 2 2 2

a’+b° =a’—-i’b* =(a—ib)(a+ib)



Frl—y'=%€ TEiX, ¢ —-f=0F=01, €" "=V, =¢ +E8
1 7 S 1 —x . 2D_1
X‘e¢ " sinx)=Xx Xe = sinx)-—
g =% ot ) D' -D
1 oy 1 o i o I _X 1 ; i 2D —1—=1
= (Xe " sInX)=x—; (¢ smnx)—— ~(e " sinx) =xe : sin = —Sinx
b D1 (D”-D) (D1} —{1—1j ((O—1) —([D—1))
2D -1 2D—1 2(D° -D)* -2(D* -D)(2D -1)*
> ~(xe™ sinxX) = X— (& snx)~— ( ) 2( ; X )
(D" =-D) (D} (D" -D)
S 2AD-) -D-D)" -2(D-1)* -D-H))2DO-DH-1)°
(D-1)" -(D-1)°

(D* -D)y =x’e"sinx, y, = — (xe " sinx)

(e sinXx)

=¥e™ 2(D2_1)_1 ~(sinx) —e
(B =1y —(L—1))

(sinx)



18.8.2) 21 X’ COSX = X 21 (XC0sX)— 22D ~(Xcosx)
D” +1 44 (D +1)

1 1 2D
= (Xxcosx) =Xx = (cosx)— D 1) (cosx)

22D . 22D 2 (COSX)+2(D2+1)2 —22(D24+1)(2D)2
(D? +1) (D? +1 (D? +1)

COSX



